[ number of missing inner layers |

[ number of missing outer layers |

1e - —| Entries 85713 1e —| Entries 85713
E : + | Mean 1.119 A + | Mean 0.9399
: : |Std Dev 1114 . |Std Dev 1.498
: : ; I : ; I
........................... —1= it
: *TEnuies 86051 107 *TEnties 86051
: : Mean 1.072 F : Mean 0.9449
N . | Std Dev 1.108 L . | Std Dev 1.505
. eeiiiiitiiiiiii.. 4 I [ eeiiiiitiiiiiii..
: i [Entries 87132 10 E i [Entries 87132
' ' Mean 1.09 F ' Mean 0.937
: : |Std Dev 1112 3 r . |Std Dev 1.496
""""""""" - 10 —J e
O o R P SRRRRELELERRERRE KO SRRREEY CRLERCIEES SRRRRELELERRERRE
-5 : R T s '
107 T1 : : 107F :
0101.6¢_""! III 01059_""!"', II
=1 F : : : = [ E : :
© o H N N © F 4 N N
S L S S R T o . . .
n: 1A055 . . . n: 1Al__ """""""" rrr-—--"""-" o
e T SR Do Do L : : :
F++ : : : Wl b SEEREEE RRERREE R RE R
0.5k ' : ' 3 : : '
0 10 15 20 25 0 5 10 15 20 25
= DQM_original_step2_ttbar-phasel-newgeom
|j === DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
mean Nl . DQM_pixelCPETemplateCutChiSquare5_step?2_ttbar-phasel-newgeom
Entries 85713
ey A ]
@ 10 E : + | Mean 14.39
> F . : |LStd Dev 3.9
A L - : : : I
Q o R Entries 86051
= B Mean 14.47
e L
v 10°E : | std Dev 3.926
r :]| Entries 87132
- : :lf Mean 14.45
102 b L. L +]5td Dev 3919

Ratio

2 3

track n

Entries 133002
Mean 2.164
Std Dev 6.079
: |
Entries 133002
Mean 2.164
Std Dev 6.079
: |
Entries 133002
Mean 2.164

6.079

Std Dev

Ratio

10

Ratio

I

8 3
|||||||||||||I |III|

0.9

dn

track hits

Entries 214094
Mean 0.6778
Std Dev 122
""" T
Entries 215105
Mean 0.6806
Std Dev 1.252
: T
Entries 218382
Mean 0.6838
2.302

'9101.—'6‘_ MY BRI B ol
= L H
© = T H
ad 1.1F FF 5 of I O 1 O
[
1:— 4 "“E"f:: """"
10°




	Contents
	Page 1


